B LS00 S I V2 s R s

T
204 F

Spiel BF3

my B =y
-._,:,r'fj&":/f"',r:" s J.‘;I.T'.I;J{pf 24 e oun Bty (sl #1118

(24

PAPER CODE 2115
Lase bl presdtderd e D AC, B, A =N L i nd

(201547 0 2018.20 77

4 2 I SIS M I £ W2 ot Pl 120 SRR SIS S (W S AN T L A

(]

fill that circle

will resull in zerc mark in that question. Write PAPER COD
Sheel and fill bubbles accordingly, oth

sides of the Answer | j
U white correcling fluid is nol allowed

se ol ink remover or

ohjective lyj

in frent of that question number.

S L S m‘-‘a...fl_u":f_; At el e S

Note:- You have four chaices for each

e question as A,

se marker mEpen to fill the circ
» which is printed on this gquestion Pa
erwise the studenl will be responsible

o W de
< he el nZ i PAPER CODE
1 he choice which you think is correct:
les. Cutting or filling bwo o more circles
er, on the  bath
or the situation,

B,Cand D.

(55>) @l
o 305,

(D) 7c) (B (A} QUESTIONS [FX]
e p il 158, i o Liquidity Preference -!._JL':_#, )J ¥ E'_: sda| 1
Adam Smith Ricardo Pigou Keynes Theory was presented by
{mt,,j £=f 25K {JAT -.g.t‘ﬁ;Ltf'! VJJ;;éﬁ .:,ps,r*":_j"-""’ 2
Interest rate Saving Investmeant Income Speculative demand for money depends upen
¥l h’kl.il-{f} e/ b’;..ixl.#,_.u - P'L_rl_;;'u:a'u‘: .:.a?b’ (EEK 3
Naticnal : Consumer's | Macro i :
HEm Income - behaviour feonomics studies
uaniitative St | Conditionalss,” | Permanent )l | Exactd® | The economic laws are B Ll i e 4
)" wlic el o=t tj;:" - rﬂaﬁil}/}{_ ?ﬁ)’e:ﬁifm;-.ﬂ 5
Zera Maximum Positive Negative When marginal utility is zero, the total utiljlghis,
» He S i J:ru?ﬁumfw’l" 6
Keynes Robbins Marshal Adam Smith | The law of diminishing marginal wtiiity wa presented by
el ] U&' ﬂbﬁ —c L Wi S0y | 7
Circular Elliptical Parabaola Straight line | The curve of quadratic eqlation)is
2 AU JL ‘,ffl': —%bﬁupl.;nbbd- d_.fz._Jb B
Upwards Both sides Leftwards Rightwards | Due to fall in demand, the:demand curve shifts 1o
f-» s JA 2l __ A TR A
Pigou Robbins | Marshal Adam Smith | The formula of elasticity of demand was presented by
n e ' . - ) _‘-I.P.-" - bﬂfﬁ‘,’&’h‘;{ﬁ 10
Infinite Zero Positive | Negative , | THe slope &f supply curve is
F=din nasl e J6 e ; e I FamnSlisitis| 11
Less than unity Infinite Greater than unity Zefo | | The slasticity of Perishable goods is :
£ asee Ayt e .‘1.,.-13 - Eﬁ;bﬁ(u}i;ﬁaa{":ufcﬁljﬁdi‘f 12
. Demand and ) In Market equilibrium, The determination of
Fixed | d
v S”pw Supply Supp y e & o Price depends on
f-j:' =k = [0 - ;,ﬁ.x Jl.sfj:ié 13
Organization Capital Labgiif Land The basic factor of praduction is
L;[‘f" et J;Iy* G e i 70z 14
Organization Land . Capital Labour It is not possible the geographic mebility of
Ailae L')J/Lr’ Hatae [-;3. Dl V- il byl g Z,,}Jd'_,ﬁ_,': Al {)( 15
Constant product | Marginal Product |Variable product Average product | The rate of change in total product is
e drnsigl M o &% ed/ Mg Fie dn Potnae 7¥_a | 16
Becomes fnfinite | Becaifies zera |  increases Decreases |When marginal product is negalive, the total product
Vs A | ug® Ly et K stV p | 17
Envelope shaped {  S-Shaped Saucer Shaped U-Shaped |The SAC Curve in short run is
s 2 e ” i ¢ Sraduriail 36U | 18
In large number Four Two One Under Perfect Competition, the firms are
248 # & =4 e b L S b |
Infinite Zero Negative Positive Under Periect Compelition, the slope of TR curve is |
sz 2o AT ! Ul | The oppdsite market e wrdfde | 20 |
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Answer briefly any Eight parts from the followings:- 8x2=16 -;.{f(f..'.rl,lﬂrﬁﬁle T = Gf;.u-‘.g,tj By -2
What is meant by Ar? e e (i) What is meant by Services?%e il Ve =hs (i)
Differentiate between Public and Private Goods. EE A M u{»-'d,s;f {iii)
Write any four characteristics of Economic Laws. -&'f..-.-l_m“’:.r{! JfJL):'.FL?b’ {iv)
Define Indifference curve. -éqﬁf@];‘xb {wvi} What is meant by Scarcity? Te. s Ve dL_f {v)
What is meant by Consumer's Equilibrium? te sl Ve @il e (vil)
Wrile any four Principles of Tabulation. _aF Urll L S e (i)
Define Law of Demand. 2 Pt (%) Define Composite Demand. -25 & /J /7 (ix)
What is meant by Elasticity of Demand? te Ve Bl (i)
Write any four factors affecting Elasticity of Demand. _-‘i‘fd’l:’;g- Mlnwin ity hg Ut (xii)
Answer briefly any Eight parts from the followings:- 8x2=16 _//yf=liz ALz 2T = M 2 bitn -3
What is meant by market period Supply? fep e sl ()
Define elasticity of supply. LSS G Sas (i) Whatis meant by Reserve price?fe s 5#2d (i)
Write formula of the derivation of supply equation. -u':."ﬁur;li Vi S ...—.-hL-e,!r.u-; (iv}
What will be the effect on equilibrium price if there is an YR e ._,J-U’J (GZ-;' ._,"{.;,4_5 ,J;Jd} (v)
equal increase in demand and supply.
Wite four factors which affect the productive capacity of land, I Lz S f e i Bt (i)
Define horizontal mobility of labour. a5 WS 2 i)

What is meant by capital formation. ‘.‘»;..-!f Ve ~t /J‘.‘Q {ix) Write four tunctions of entrepreneur._d:'fpﬁlﬁ.-lrriz.' (viil}
What is meant by marginal product? e s\ e xlsl.g;f‘-‘? {xi)  What s meant by scale ofipfoduttion?®_»( Y e X (%)

Write four external economies of any business institution. .4,.:{3%’ [Er,:.;l; Jz._Jm Lj,g,,s’;;‘f (xii}
Answer briefly any Nine parts from the followings:- 9x2=18 -Gy Fellz/PL 171 J edfe it 4
Define Marginal revenue. _2E Ly G () Whatis meafPBy costipfiBroduction. Se e Ji e (i)
What is meant by Long Run.  —cslsUe o/ f# (Iv) _ Define @lel costafproguction. -2 it ( Fae ibar ¥ (i)
Define gross interest. _Eﬁ-,,ér/;gf:rw.-'} {wvi) What i&'meant by Monopoly. - s/ Y okl (V)
Write four assumptions of perfect competition. 2 .:.Ls:/%k Faut2 .j‘ - {wii}
What s meant by price discrimination. < A+ /e &2 51 {ix) yDefine Market. ' L& v A (vili)
What is meant by real wage, _¢ i Q’:...:«zl-ﬂ? {xi) Define rent, 2 A5 ()
Define profit. s Sy 88 (xii)  What is meant by demand for money.—< sl Ve b5 (xii)
Part o Y 4} (o -
Note: Attempt any three questions. 10x3=30 Glfepp L syl S 2
Explain Merits and Demerits obAlfred Marshall's definition of Ecenomics. WIS T PRI Ay GG
Find out Equilibrium pfige and)Equilibrium quaniity. Qd = 20 - 5p Qd=20-5p _g,gfrﬁnwd;l?m =40 -8
Qs=4+3p Qs =4+ 3p
Write: down the adg@ntages and disadvantages of small scale production, F et L Pzl A T
Explain Long R Equilibrium of industry under Perfect ORI ST T SRy Y S 8 ST
Competition with the help of Diagram. _?_fgr:_ 2k Jrl,,EJj
Explain Marginal Produclivity Theory with the help of Schedule and diegrarn. 2 By st s eo i S PLE 8
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